Equivalent Expressions Practice #1 Name

Evaluate the following using Mental Math and then check with the calculator.

A, (3)+ (-4)(-9) = 2. |-43-(-72)|= 5 2_1_
" 5 15
(-3 _ 5. 12+(-4)-5+(=10)=_____ 2.5 _
4. = . ® 35
Use the Distributive Property to Expand the following.
7. —6(=3x-2) 8. §(6x - 9y) 9. —(-2x-y+102)
Watch the following property with its example.
10. Additive Identity A -7-1=-7
11. Additive Inverse B. 44+0=4
12. Multiplicative Identity C. -i'-§= 1
13. Multiplicative Inverse D. _;. + (_ %) -0

Solve the following Word Problem.

14. When Jeremy woke up in the morning the temperature was 65° F. Throughout the day
the temperature rose 8° F, then fell 1° F, the rose 5° F, and finally fell 10° F. What was the
final temperature at the end of the day?
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Use the Distributive Property to E%Qd the following.
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7. —6(—-3x-2) 8. %(ﬁx-—-‘?y) 9. —l(-2x—y+102)
IBx +12 - 3
Bx Yx -6 \ 2x+y " 10z
~Match the following property with its example.
6 10. Additive Identity A -7-1=-7
D 11. Additive Inverse B. 4+0=4
A 12. Multiplicative Identity e %-g’- =1
C‘ 13. Multiplicative Inverse D. 51_+ (_ %) =

Solve the following Word Problem.

14. When Jeremy woke up in the mormng the temperature was 65° F. Throughout the day
the temperature rose 8° F, then fell 1° F, the rose 5° F, and finally fell 10° F. What was the
final temperature at the end of the day?
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